
Rahmat 1

Mock Test-I 

Physics 

(Optional) 

Full Marks – 70 

Pass Marks – 23 

All questions are Compulsory 

lHkh iz’u vfuok;Z gSA 
 

Total No. of questions – 20 

                                              GROUP – A                              01x15=15 
 

(MULTIPLE CHOICE/ OBJECTIVE TYPE QUESTION OF 01 MARKS EACH) 

1. i. Van –de-Graff generator is a machine that produces 

(a) High electric current (b) very High Voltage  

(c) Energy (d) Very high resistance 

oku&Ms&xzkQ tfu= ,d e’khu gS ftlls mRié gksrk gS 

(a) mPp fo|qr /kkjk (b) mPp foHko (c) mtkZ (d) mPp Áfrjks/k 

1 

 ii. Two graphs are plotted between current (I) passing through a conductor 

and applied voltage (V) at two different temperature T1 & T2? 

We conclude that 

 (a) T1 > T2  (b) T1 < T2 (c) T1 = T2 (d) T1 ≤T2 

fdlh pkyd ls Áokfgr /kkjk (I) rFkk vkjksfir foHkokUrj (V) ds chp nks 

vyx&vyx rkiksa T1 rFkk T2 ij xzkQ [khapk x;k gSA fuLd”kZ gksxk fd   

(a) T1 > T2  (b) T1 < T2 (c) T1 = T2 (d) T1 ≤T2 

                                T1 

 

     V                                            T2 

 

      O 

                             I 

1 

 iii. A charge (ɋ ) is moving in a uniform magnetic (ß) such that velocity (v) is 

parallel to ß, then force acting on charge is 

(a) Maximum (b) Zero (c) ɋ v ß  (d) ɋ ß/v 

,d vkos’k (ɋ ) le#i pqEcdh; {ks= (ß) ds lekUrj (v) xfr ls xfreku gSA 

1 
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vkos’k ij yxrk gqvk cy gSA 
 

(a) Maximum (b) Zero (c) ɋ v ß  (d) ɋ ß/v 

 

 iv. Lenz’s law is in accordance with the law of 

(a) Conservation of charge (b) Conservation of mass (c) Conservation of 

energy (d) Conservation of mammon true  

ysat dk fu;e fuEu es ls fdl fu;e ds vuqdwy gS  

(a) vkos’k ds laj{k.k dk fu;e (b) nzO; ds ds laj{k.k dk fu;e  

(c) mtkZ ds laj{k.k dk fu;e (d) laosx ds laj{k.k dk fu;e  

1 

 v. Electromagnetic wave is 

(a) transverse  (b) longitudinal   (c) mechanical   (d) elastic wave 

fo|qr pqEcdh; rjaxs gksrh gS 

(a) vuqÁLFk (b) vuqnS/;Z (c) ;kaf=d (d) yphyh 

1 

 vi. In electromagnetic wave spectrum, the most energetic wave is 

(a) X-ray  (b) UV ray (c) Radio wave (d) Gamma ray 

fo|qr pqEcdh; rjax LisDVªe esa vf/kd mtkZoku rjax gS 

(a) X fdj.k (b) ijkcSaxuh (c) jsfM;ks rjax (d) xkek fdj.k 

1 

 vii. First experimental demonstration of E.M. wave propagation was given by 

(a) Newtan (b) Maxwell (c) Faraday  (d) Herts 

fo|qr pqEcdh; rjaxksa ds lapj.k dk igyk Ák;ksfxd Án’kZu djus okys O;fä 

dk uke gS  

(a) U;wVu (b) eSDlosy (c) QSkjkMs (d) gV~Zt 

1 

 viii. When a ray of light goes from rarer to denser medium the relation 

between the angle of incidence (i) & angle of refraction (r) is  

(a) i < r  (b) i = r  (c) i > r (d) no relation 

tc dksbZ Ádk’k fdj.k fojy ls l?ku ek/;e esa tkrh gS rks vkiru dks.k (i) 

rFkk viorZu dks.k (r) ds chp laca/k gksrk gSA 

(a) i < r  (b) i = r  (c) i > r (d) dksbZ laca/k ugha 

1 

 ix. Electron, Proton and Helium have same momentum. Their de-Broglie 

wavelength are λe, λp & λhe   respectively. Such that 
  

(a) λe> λp > λhe      (b) λhe> λp> λe      (c)  λhe >λe> λp    (d) λe= λp = λhe    

1 
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;fn bysDVªkWu[ ÁksVkWu rFk fgyh;e leku laosx ls xfreku gksa rFkk mudh 

Ms&czksMh rjax yEckbZ Øe’k% λe, λp rFkk λhe gks rks  

(a) λe> λp > λhe      (b) λhe> λp> λe      (c)  λhe >λe> λp    (d) λe= λp = λhe    
 x. The basic condition for photoelectric effect to take place is  

(a) u < uo  (b) u > uo (c) λ > λo (d) intensity of incident light should be 

very high. 

Ádk’k fo|qr ÁHkko ds voyksdu ds fy, ewy Áfrca/k gS fd  

(a) u < uo  (b) u > uo (c) λ > λo (d) vkifrr Ádk’k dh mPp rhozrk 

1 

 xi. ISO toper have same 

(a) Mass No.  (b) Atomic No.  (c) Quantum No. (d) Neutrons 

leLFkkfudkas ds fy, vko’;d gS] leku  

(a) nzO;eku la[;k (b) ijek.kq la[;k (c) DokUVe la[;k (d) U;wVªkWu la[;k 

1 

 xii. Majority charge carrier in n-type semi conductor are 

(a) holes (b) electrons (c) protons (d) neutrons\ 

n- VkbZi ds v)Zpkyd esa cgqla[;d vkos’k okgd gksrs gSa 

(a) dksVj (b) bysDVªkWu (c) ÁksVkWu (d) U;wVªkWu 

1 

 xiii. In forward biasing of p - n junction diode, the width of depletion layer 

(a) increases (b) remains (c) decreases (d) becomes infinite  

p – n laf/k Mk;ksM ds vxz vfHkur dh fLFkfr esa vo{k; ijr dh pkSM+kbZ 

(a) c<+ tkrh gS (b) vifjofÙkZr jgrh gS (c) ?kV tkrh gS (d) ,d gks tkrh gS 

1 

 xiv. A device which charges the form of energy is called 

(a) amplifier (b) oscillator (c) modulator (d) transducer   

tks ;qfä mtkZ dk #ikUrj.k djrh gS mls dgrs gSa 

(a) lao)Zd (b) nksyfu= (c) eksM~;wysVj (d) VªkUlMW;wlj 

1 

 xv. Sky wave propagation involves reflection from 

(a) ground (b) ionosphere (c) antenna (d) satellite 

O;kse rjax lapj.k esa ijkoÙkZu gksrk gS 

(a) i`Foh }kjk (b) vk;u e.My }kjk (c) ,UVsuk }kjk (d) mixzg }kjk 

 

 

1 
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  GROUP – B                               

02x08=016 

 

  (VERY SHORT ANSWER TYPE QUESTION CARRYING 2 MARKS EACH)  

2.  Find expression for energy stored in a charged capacitor? 

fdlh la/kkfj= esa lafpr mtkZ ds fy, O;atd ÁkIr djsaA 

2 

3.  What is electromagnet? Mention two factors that determine the strength of 

an electromagnet. 

fo|qr pqEcd D;k gS\ fo|qr pqEcd dh ‘kfä dk fu/kkZj.k djus okys nks 

dkjdksa dk mYys[k djsaA 

1+½+½ 

4.  Draw a graph to show variation of inductive reaction & capacitive 

reactance with frequency of applied A.C. 

Ásjdh; Áfr?kkr rFkk /kkfjrh; Áfr?kkr dk vkjksfir vko`fr ds lkFk ifjoÙkZu 

n’kkZusokys xzkQ [khapsA 

1+1 

5.  What is critical angle? If critical angle is 45
0
 , What is the refractive index 

of medium. 

Økafrd dks.k D;k gS\ ;fn Økafrd dks.k dk eku 45
0
 gks rks ek/;e dk 

oÙkZukad crk,¡A 

1+1 

6.  Draw the ray-diagram for image formation in convex lens of radii R1 & 

R2. Writ the lens-maker’s formula 

fdlh mÙky ysUl] ftldh oØrk f=T;k R1 rFkk R2. gS] ds }kjk fcEc fuekZ.k 

djus okys fdj.k vkjs[k dks ÁLrqr djsaA ysUl esdj lw= dk mYys[k djsaA 

1+1 

7.  What is the out-come of Davission- Gerrner’s experiment? 

Why dose a walking man not show the wave property? 

Msfolu rFkk teZj ds Á;ksx ls D;k fuLd”kZ ÁkIr gksrk gS\ 

xfreku euq”; }kjk rjax&xq.k D;ksa Ánf’kZr ugha gksrk\ 

1+1 

8.  Calculate the frequency of radiation, when an electron jumps from 2
nd

 to 

1
st
 orbit in hydrogen atom. 

tc dksbZ bysDVªkWu gkbMªkstu ijek.kq dh f}rh; d{kk ls ÁFke d{kk esa Áos’k 

djrk gS rks fofdj.k dh vko`fr ds fy, ,d O;atd ÁkIr djsaA 

2 

9.  Draw a circuit diagram to study the characteristic curve of a transistor in 2 
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CE mode. 

VªkaftLVj ds mHk;fu”B mRltZd foU;kl esa vfHkyk{kf.kd oØ [khapus ds fy, 

mi;qä ifjiFk dk vkjs[k nsaA 

  GROUP – C          

                     03x08=24 

 

10.  Find equivalent resistance for a combination of resistance (a) In Series  

(b) Parallel 

Áfrjks/k ds (a) Js.kh Øe la;kstu (b) lekUrj Øe la;kstu esa rqY; Áfrjks/k 

dh x.kuk djsaA 

1½+1½ 

11.  State the principle of potentiometer and draw the circuit diagram to 

compare the emf of two cells. Write the final expression illustrating the 

formula. 

foHkoekih ds fl)kar dk mYys[k djsaA 

foHkoekih }kjk nks lsyksa ds fo|qr okgd cyksa dh rqyuk djus ds fy, 

mi;qä fo|qr ifjiFk dk vkjs[k nsaA mijksä rqyuk djus gsrq vafre O;atd 

lw= lfgr fy[ksaA 

1+1+1 

12.  For retraction at any curved surface device the relation 

ɲ2 
& 

ɲ1 
¾ 

ɲ2-ɲ1 

ư u    R 

 

3 

  fdlh oØ lrg ij vioÙkZu ds fy, fuEu laca/k dh LFkkiuk djsa 

ɲ2 
& 

ɲ1 
¾ 

ɲ2-ɲ1 

ư u    R 

lHkh inksa ds lkekU; vFkZ gSaA 

 

13.  At what distance an object be placed in-front of convex lens of focal 

length 20cm so that magnification (2) is obtained. Calculate object 

distance for both the cases. 

,d 20cm Qksdl nwjh okys mÙky ysUl ls fdruh nwjh ij ,d oLrq j[kh 

tk;s fd vko/kZu dk eku 2 ÁkIr gks ldsA nksuksa fLFkfr esa oLrq nwjh dh 

x.kU; djsaA 

1½+1½ 

14.  With a neat ray diagram, explain the working of compound microscope, 1+1+1 
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when final image is formed at least distance for distinct vision. 

Why objective has small focal length but eye-piece has large focal length 

in a compound microscope? 

,d LoPN js[kk vkjs[k }kjk la;qä lw{en’khZ dh dk;Zfof/k dks le>k;sa] tcfd 

vafre ÁfrfcEc Li”V n`f”V dh vYire nwjh ij curk gksA la;qä lw{en’khZ esa 

vfHkn`’;d dh Qksdl nwjh T;knk ysfdu oLrqysUl dh Qksdl nwjh de D;ksa 

j[kh tkrh gSA 

15.  What are nuclear fission and fusion? Give example for each. 

ukfHkdh; fo[kaMu ,oa lay;u D;k gS\ ,d mnkgj.k lfgr le>k,¡A 

1+½+1+½ 

16.  With neat diagram explain the working of a transistor amplifier in 

common emitter mode. 

,d LoPN vkjs[k ds }kjk mHk;fu”B mRltZu foU;kl esa VªkaftLVj lao)Zd 

dh fØ;k fof/k dh O;k[;k djsaA 

1+2 

17.  What is modulation? Draw the waveform of audio signal, carrier wave 

and amplitude modulated wave. 

ekWMqyu D;k gS\ JO; ladsr okgd rjax rFkk vk;ke ekWMqfyr rjax dk 

vkjs[k [khapsA 

1+2 

  GROUP – D          

                     05x03=15 

 

18.  State Gauss’s theorem and apply it to find the electric field due to 

uniformly charged hollow sphere at points  

(i) inside  (ii) out side the sphere  

xkWl dk Áes; fy[ksa rFkk vudk vuqÁ;ksx djrs gq, fdlh leku #i ls 

vkosf’kr [kks[kys xksys dh (a) vkUrfjd fcUnq (b) okg~; fcUnq ij fo|qr {ks= 

dh x.kuk djsaA 

1+2+2 

  Or@ vFkok@ vFkok@ vFkok@ vFkok     

  Obtain expressions for electric field strength due to an electric dipole at a 

point on the  

(a) Axial line (b) Equatorial line 

fdlh fo|qr f}/kzqo ds dkj.k (a) vnh; fcUnq (b) fuj{kh; fcUnq ij fo|qr {ks= 

2½+2½ 
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dh x.kuk djsaA 

19. a. Obtain expression for torque acting on a current carrying circular loop, 

kept in a uniform magnetic field- 

When this torque is maximum ? 

le#i pqEcdh; {ks= esa fLFkr fdlh /kkjk;qä o`Ùkkdkj dqaMyh ij yxus okys 

cy&vk?kw.kZ dk eku Kkr djsaA ;g cy&vk?kw.kZ fdl fLFkfr esa egÙke gksrk 

gSA 

2+1 

 b. How you will convert a galvanometer in Ammeter & Voltmeter? 

fdlh /kkjkekih dks (a) vkEehVj (b) HkksYVehVj esa dSls ifjofrZr djsaxsA 

1+1 

  Or@ vFkok@ vFkok@ vFkok@ vFkok     

 a. Find the magnetic dipole moment of a revolving electron. 

fdlh ?kw.kZu djrs gq, bysDVªkWu ds pqEcdh; f}/kqzo vk?kw.kZ dk eku fudkysaA 

2+3 
 b. Using Ampere’s circuital law, find magnetic field at a point due to 

infinitely long current carrying conductor.  

,fEi;j ds ifjiFkh; fu;e dk vuqÁ;ksx djrs gq, yEcs /kkjk;qä pkyd ls 

dqN nwjh ij fLFkr fdlh fcUnq ij pqEcdh; {ks= Kkr djsaA 

20.  Draw a schematic diagram of cyclotron. Explain its working with 

principle involved. Give two limitations of cyclotron.  

lkbDyksVªkWu dk ,d ;kstuk vkjs[k [khaps rFkk bldh dk;Z fof/k dk fl)kar 

lfgr O;k[;k djsaA lkbDyksVªkWu dh nks dfe;ksa dk mYys[k djsaA  

1½+2½+½+½ 

  Or@ vFkok@ vFkok@ vFkok@ vFkok     

  Draw a schematic diagram of A.C generator. Explain the construction and 

working of this generator with the principle involved. 

,d ÁR;koÙkhZ /kkjk tfu= dk ;kstuk vkjs[k [khapdj bldh cukoV rFkk 

dk;Z fof/k dk fl)kar lfgr O;k[;k djsaA 

1+1½+1½+1 

 

 

  END 


